QS aFaTATYLYT TikER (RE1~4mm)

FE~1E (mm) -7 =Lk (22)
MR | SR =T =z NTN NSK SKF NMB NTN NSK SKF NMB
3 1 = 681 681 - L-310 = - - -
1 3 1.5 1.5 - MR 31 - L-310W51 - - - -
4 1.6 23 691 691 - R-410 = - - -
1.2 4 1.8 25 BC 1.2-4 MR 41X - R-412 - - - -
4 1.2 2 68/1.5 681X - L-415 [W68/1.5SSA| 681XZZ - L-4152Z
4 1.8 25 - - - L-415W81 - - - L-415ZZW52
1.5 5 2 2.6 69/1.5A 691X - R-515 |W69/1.5SSA| 691XZZS - R-5152Z
5 = 25 = - - - = - - R-5152ZY52
6 25 3 60/1.5 601X - R-615 = 601XZZS - R-6152Z
4 1.2 2 672 - - - W6727272 - - -
5 1.5 23 682 682 - L-520 W682SSA 682727 - L-5202Z
5 2 25 BC2-5 MR 52 - L-520W02| WBC2-5SSA| MR 5277 - L-520ZZW52
2 5 2.5 - - - - L-520W52 - - - -
6 23 3 692 692 - R-620 W692SSA 69277 - R-6202Z
6 25 25 BC2-6 MR 62 - R-620W52 - MR 6227 - R-620ZZY52
7 2.5 3 BC2-7A MR72 - R-720Y52| WBC2-7ZZ | MR 72722 - R-720ZZY03
7 28 35 602 602 - R-720 W602ZZA | 602ZZS - R-7202Z
5 1.5 23 67/2.5 - - - W67/2.5ZZA - - -
6 1.8 2.6 68/2.5 682X - L-625 |W68/2.5ZZA| 682XZZS - L-6252Z
6 2.5 3 - - - - - - - -
25 7 = 3 = - - - WBC2.5-7Z2ZA - - R-7252ZY03
7 2.5 3.5 69/2.5 692X - R-725 |W69/2.5SSA| 692XZZS - R-72527
8 25 2.8 BC2.5-8 MR 82X - R-825Y52 |WBC2.5-8ZZA - - R-82577Y82
8 28 4 60/2.5 602X 60/2.5 R-825 | W60/2.5ZZA | 602XZZS - R-82577
6 2 25 673 MR 63 - L-630 | WA673SSA [MR 63ZZS - L-6302Z
7 2 3 683 683 - L-730 WG683ZZA 6832ZS - L-7302z
8 25 = BC3-8 MR 83 - R-830Y52 = - - -
8 3 3 693 693 - R-830 - - - R-830Z2Y03
8 - 3.5 - - - - = - - R-830ZZY52
3 8 - 4 - - - - W69327 69327 - R-8302Z
9 25 4 BC3-9 MR 93 - R-930Y52| WBC3-9ZZA| MR 9327 - R-930ZZY04
9 3 5 603 603 - R-930 WG603ZZA 60327 - R-9302Z
10 3.5 - - - - R-1030Y53 = - - -
10 4 4 623 623 623 R-1030 623ZZA 62327 623-2Z [R-10302Z
13 5 5 633 633 - - = 63327 - -
7 2 25 674A MR 74 - L-740 WAG674SSA |MR 742ZS - L-74027
8 2 3 BC4-8 MR 84 - L-840 | WBC4-8ZZ | MR 84zZ - L-840zZ
9 2.5 4 684AX50 684 618/4 L-940 W68477 68427 - L-94027
10 3 4 BC4-10 MR 104 - L-1040 | WBC4-10ZZ|MR 104ZZ - L-10402Z
4 11 3.5 - - - - R-1140Y53 - - - -
1 4 4 694 694 - R-1140 69477 69477 - R-11402Z
12 4 4 604 604 604 R-1240 60427 60427 - R-12402z
13 5 5 624 624 624 R-1340 62477 62477 624-27 [R-1340zZ
16 5 5 634 634 634 R-1640 63427 63427 634-2Z (R-1640ZZ




QS aFaTATYLY FikER (RE5~10mm)

8 2 25 675 MR 85 - L-850 WA675ZZ | MR 8527 - L-850ZZ

9 25 3 BC5-9 MR 95 - L-950 [WBC5-9ZZA| MR 9577 - L-9502Z

10 3 4 BC5-10 MR 105 - L-1050 | WBC5-10ZZ (MR 10522 - L-1050ZZ

11 3 5 685 685 618/5 L-1150 | W685ZZA 68527 - L-1150ZZ

11 _ 4 _ - - - WBC5-11ZZ - - L-1150ZZY04
° 13 4 4 695 695 - R-1350 69577 69527 - R-1350Z2Z

13 - 5 - - - - WBC5-132Z - - R-1350ZZW05

14 5 5 605 605 - R-1450 60527 60527 - R-1450ZZ

16 5 5 625 625 625 R-1650 62577 62527 625-2Z [R-1650ZZ

19 6 6 635 635 635 R-1950 63527 63527 635-2Z [R-1950ZZ

10 25 3 676A MR 106 - L-1060 | WA676ZZ (MR 1062ZS - L-1060ZZ

12 3 4 BC6-12 MR 126 - L-1260 |WBC6-12ZZA[MR 126ZZ - L-12602Z

13 35 5 686 686 618/6 L-1360 W6862Z 68622 - L-13602Z

15 5 5 696 696 - R-1560 69627 69627 - R-1560ZZ
6 16 5 5 - - - - - - - -

16 6 6 BC6-16A - - - BC6-162Z - - -

17 6 6 606 606 - R-1760 60622 60622 - R-1760ZZ

19 6 6 626 626 626 R-1960 62627 62627 626-2Z [R-1960ZZ

22 7 7 = 636 - - = - - -

1 25 3 677 MR 117 - L-1170 | WA677ZZ |MR 1172ZS - L-11702Z

13 3 4 BC7-13 MR 137 - L-1370 |WBC7-13ZZA|MR 1372ZS - L-13702z

14 35 5 687A 687 618/7 L-1470 W687727 68727 - L-14702Z
7 17 5 5 697 697 - - 69722 69722 - -

19 6 6 607 607 607 R-1970 60727 60722 607-2Z [R-1970ZZ

22 7 7 627 627 627 R-2270 62727 62727 627-2Z |R-2270ZZ

26 9 9 637 637 - - = - - -

12 = 3 = - - - = - - -

12 25 35 678A MR 128 - L-1280 W678ZZ |MR 128ZZS - L-12802Z

14 35 4 BC8-14 MR 148 - L-1480 | WBC8-14ZZ (MR 148272 - L-14802Z
8 16 4 5 688A 688 618/8 L-1680 W68827 68827 - L-16802Z

19 6 6 698 698 - R-1980 69827 69827 - R-1980ZZ

22 7 7 608 608 608 R-2280 60827 60827 608-2Z [R-2280ZZ

24 8 8 628 628 - - 62827 62827 - -

28 9 9 638 638 - - = - - -

14 3 45 679 - - - W679ZZA - - -

17 4 5 689 689 618/9 L-1790 W689727 68927 - L-17902Z

20 6 6 699 699 - L-2090 69977 69977 - L-2090ZZ
? 24 7 7 609 609 609 - 60927 60927 609-2Z -

26 8 8 629X50 629 629 - 62977 62977 629-27 -

30 10 10 639 639 - - = - - -

15 3 4 = - - - = - - A-1510Z2Z
0 19 5 7 6800 6800 61800 L-1910 = 6380022 - L-19102Z




